## Acta Mathematica Universitatis Ostraviensis

## Pavel Jahoda; Monika Jahodová <br> On a set of asymptotic densities

Acta Mathematica Universitatis Ostraviensis, Vol. 16 (2008), No. 1, 21--30
Persistent URL: http://dml.cz/dmlcz/137498

## Terms of use:

© University of Ostrava, 2008

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

## On a set of asymptotic densities

Pavel Jahoda and Monika Jahodová


#### Abstract

Let $\mathbb{P}=\left\{p_{1}, p_{2}, \ldots, p_{i}, \ldots\right\}$ be the set of prime numbers (or more generally a set of pairwise co-prime elements). Let us denote $A_{p}^{a, b}=$ $\left\{p^{a n+b} m \mid n \in \mathbb{N} \cup\{0\} ; m \in \mathbb{N}, p\right.$ does not divide $\left.m\right\}$, where $a \in \mathbb{N}, b \in$ $\mathbb{N} \cup\{0\}$.

Then for arbitrary finite set $B, B \subset \mathbb{P}$ holds


$$
d\left(\bigcap_{p_{i} \in B} A_{p_{i}}^{a_{i}, b_{i}}\right)=\prod_{p_{i} \in B} d\left(A_{p_{i}}^{a_{i}, b_{i}}\right),
$$

and

$$
d\left(A_{p_{i}}^{a_{i}, b_{i}}\right)=\frac{\frac{1}{p_{i}^{b_{i}}}\left(1-\frac{1}{p_{i}}\right)}{1-\frac{1}{p_{i}^{a_{i}}}} .
$$

If we denote

$$
A=\left\{\left.\frac{\frac{1}{p^{b}}\left(1-\frac{1}{p}\right)}{1-\frac{1}{p^{a}}} \right\rvert\, p \in \mathbb{P}, a \in \mathbb{N}, b \in \mathbb{N} \cup\{0\}\right\},
$$

where $\mathbb{P}$ is the set of all prime numbers, then for closure of set $A$ holds

$$
\operatorname{cl} A=A \cup B \cup\{0,1\},
$$

where $B=\left\{\left.\frac{1}{p^{b}}\left(1-\frac{1}{p}\right) \right\rvert\, p \in \mathbb{P}, b \in \mathbb{N} \cup\{0\}\right\}$.

## 1 Introduction

Theorems 1, 2 and 3 introduced in this paper are generalizations of some results from [1] and [2] concerned in sets of natural numbers in form $p^{a n+b} m$. In this paper asymptotic densities of sets of natural numbers in form $p^{a_{n}} m$, where $p, m \in \mathbb{N}$,

Acknowledgement: This work is supported by The Ministry of Education, Youth and Sports of the Czech Republic. Project CQR 1M06047
$p>1, p$ does not divide $m$, and $\left\{a_{n}\right\}_{n=1}^{\infty}$ is an increasing sequence of non-negative integers are studied.

The denotation

$$
A_{p}^{a_{n}}=\left\{p^{a_{n}} m \mid m, n \in \mathbb{N}, p \text { does not divide } m\right\}
$$

is used.
The above mentioned sets $A_{p}^{a_{n}}$ are intresting because of one of their properties: If we take two co-prime numbers $p$, and $q$, then for the asymptotic density of intersection of sets $A_{p}^{a_{n}}$, and $A_{q}^{b_{n}}$ holds

$$
d\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right)=d\left(A_{p}^{a_{n}}\right) d\left(A_{q}^{b_{n}}\right)
$$

Moreover, if we take arbitrary finite number of pairwise co-prime numbers $p_{1}, p_{2} \ldots, p_{k}$, and arbitrary increasing sequences of non-negative integers $\left\{a_{1}(n)\right\}_{n=1}^{\infty}$, $\left\{a_{2}(n)\right\}_{n=1}^{\infty}, \ldots,\left\{a_{k}(n)\right\}_{n=1}^{\infty}$, then for the asymptotic density of intersection of sets $A_{p_{j}}^{a_{j}(n)}, j=1,2, \ldots, k$ holds

$$
d\left(\bigcap_{j=1}^{k} A_{p_{j}}^{a_{j}(n)}\right)=\prod_{j=1}^{k} d\left(A_{p_{j}}^{a_{j}(n)}\right)
$$

Theorem 4 describes the closure of set of asymptotic densities of sets $A_{p}^{a n+b}$, where $p$ is prime number, $a \in \mathbb{N}$, and $b \in \mathbb{N} \cup\{0\}$.

## 2 Asymptotic densities of sets $A_{p}^{a_{n}}$

At first the asymptotic densities of sets $A_{p}^{a_{n}}$ are determined.
Theorem 1. Let $p \in \mathbb{N}, p>1$, and let $\left\{a_{n}\right\}_{n=1}^{\infty}$ be an increasing sequence of non-negative integers. If we denote

$$
A_{p}^{a_{n}}=\left\{p^{a_{n}} m \mid m, n \in \mathbb{N}, p \text { does not divide } m\right\}
$$

and $r_{p}^{a_{n}}=\sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}}$, then

$$
d\left(A_{p}^{a_{n}}\right)=\left(1-\frac{1}{p}\right) r_{p}^{a_{n}} .
$$

Proof. Let us denote $C_{j}=\left\{p^{a_{j}} m \mid m \in \mathbb{N}\right\}$ for every $j \in \mathbb{N}$. We can see that the set $C_{j}$ contains natural numbers in form $p^{s} m$, where $s \geq a_{j}$.

Similarly, let us denote $D_{j}=\left\{p^{a_{j}+1} m \mid m \in \mathbb{N}\right\}$ for every $j \in \mathbb{N}$. We can see that the set $D_{j}$ contains natural numbers in form $p^{s} m$, where $s \geq a_{j}+1$.

We denote the difference of set $C_{j}$, and $D_{j}$ by $Q_{j}$. It holds that

$$
\begin{equation*}
Q_{j}=C_{j} \backslash D_{j}=\left\{p^{a_{j}} m \mid m \in \mathbb{N}, p \text { does not divide } m\right\} \tag{1}
\end{equation*}
$$

From equation (1) follows

$$
A_{p}^{a_{n}}=\bigcup_{j \in \mathbb{N}} Q_{j}
$$

Hence, for every $k \in \mathbb{N}$ holds

$$
\begin{equation*}
\bigcup_{j=1}^{k} Q_{j} \subseteq A_{p}^{a_{n}} \subseteq C_{k+1} \cup \bigcup_{j=1}^{k} Q_{j} \tag{2}
\end{equation*}
$$

We determine asymptotic densities of sets $C_{j}, D_{j}$, and $Q_{j}$. Element $p^{a_{j}} m \in C_{j}$ fulfills condition $p^{a_{j}} m \leq n$ if and only if $m \leq \frac{n}{p^{a_{j}}}$.

Hence, $m$ is the number of elements of set $C_{j}$ which are less or equal to $n$. Thus, from above mentioned follows that ${ }^{1}$

$$
C_{j}(n)=\left[\frac{n}{p^{a_{j}}}\right]
$$

So we obtain the asymptotic density of set $C_{j}$

$$
\begin{equation*}
d\left(C_{j}\right)=\lim _{n \rightarrow \infty} \frac{C_{j}(n)}{n}=\frac{1}{p^{a_{j}}} . \tag{3}
\end{equation*}
$$

Similarly,

$$
\begin{equation*}
d\left(D_{j}\right)=\frac{1}{p^{a_{j}+1}} . \tag{4}
\end{equation*}
$$

Since $D_{j} \subset C_{j}$, and $Q_{j}=C_{j} \backslash D_{j}$, from equations (3), and (4) we obtain

$$
\begin{equation*}
d\left(Q_{j}\right)=d\left(C_{j}\right)-d\left(D_{j}\right)=\frac{1}{p^{a_{j}}}-\frac{1}{p^{a_{j}+1}}=\left(1-\frac{1}{p}\right) \frac{1}{p^{a_{j}}} . \tag{5}
\end{equation*}
$$

Sets $Q_{j}$ are pairwise disjoint (one can easily prove that $Q_{i} \cap Q_{j} \neq \emptyset$ implies $i=j$ ). It means that for every $k \in \mathbb{N}$ holds

$$
\begin{equation*}
d\left(\bigcup_{j=1}^{k} Q_{j}\right)=\sum_{j=1}^{k} d\left(Q_{j}\right) \tag{6}
\end{equation*}
$$

From (2) we obtain estimations of lower and upper asymptotic density of set $A_{p}^{a_{n}}$

$$
d\left(\bigcup_{j=1}^{k} Q_{j}\right) \leq \underline{d}\left(A_{p}^{a_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}}\right) \leq d\left(C_{k+1}\right)+d\left(\bigcup_{j=1}^{k} Q_{j}\right)
$$

From (6) we obtain

$$
\sum_{j=1}^{k} d\left(Q_{j}\right) \leq \underline{d}\left(A_{p}^{a_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}}\right) \leq d\left(C_{k+1}\right)+\sum_{j=1}^{k} d\left(Q_{j}\right)
$$

and from (3), and (5) follows

$$
\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{1}{p^{a_{j}}} \leq \underline{d}\left(A_{p}^{a_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}}\right) \leq \frac{1}{p^{a_{k+1}}}+\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{1}{p^{a_{j}}}
$$

[^0]These inequalities hold for every $k \in \mathbb{N}$. With $k \rightarrow \infty$ we obtain

$$
d\left(A_{p}^{a_{n}}\right)=\lim _{k \rightarrow \infty}\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{1}{p^{a_{j}}}=\left(1-\frac{1}{p}\right) \sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}}=\left(1-\frac{1}{p}\right) r_{p}^{a_{n}} .
$$

We should note that the sum $r_{p}^{a_{n}}=\sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}}$ is convergent. The sequence $\left\{a_{n}\right\}_{n=1}^{\infty}$ is an increasing sequence of non-negative integers, hence $a_{j} \geq j-1$ holds for every $j \in \mathbb{N}$. It means that

$$
\sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}} \leq \sum_{j=1}^{\infty} \frac{1}{p^{j-1}}=\frac{p}{p-1} .
$$

Theorem 2. If $p, q \in \mathbb{N} \backslash\{1\}, \operatorname{gcd}(p, q)=1,\left\{a_{n}\right\}_{n=1}^{\infty}$, and $\left\{b_{n}\right\}_{n=1}^{\infty}$ are increasing sequences of non-negative integers, $r_{p}^{a_{n}}=\sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}}$, and $r_{q}^{b_{n}}=\sum_{j=1}^{\infty} \frac{1}{q^{b_{j}}}$, then

$$
d\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right)=\left(1-\frac{1}{p}\right)\left(1-\frac{1}{q}\right) r_{p}^{a_{n}} r_{q}^{b_{n}}=d\left(A_{p}^{a_{n}}\right) d\left(A_{q}^{b_{n}}\right) .
$$

Proof. Set

$$
A_{p}^{a_{n}}=\left\{p^{a_{n}} m \mid m, n \in \mathbb{N}, p \text { does not divide } m\right\}
$$

and

$$
A_{q}^{b_{n}}=\left\{q^{b_{n}} m \mid m, n \in \mathbb{N}, q \text { does not divide } m\right\} .
$$

Since $\operatorname{gcd}(p, q)=1$,

$$
\begin{equation*}
A_{p}^{a_{n}} \cap A_{q}^{b_{n}}=\left\{p^{a_{j}} q^{b_{i}} m \mid i, j, m \in \mathbb{N} ; p, q \text { does not divide } m\right\} . \tag{7}
\end{equation*}
$$

Let us denote $C_{j}=\left\{p^{a_{j}} m \mid m \in A_{q}^{b_{n}}\right\}$ for every $j \in \mathbb{N}$. We can see that the set $C_{j}$ contains natural numbers in form $p^{s} q^{b_{i}} m$, where $s \geq a_{j}, m, i \in \mathbb{N}$, and $q$ does not divide $m$.

Similarly, let us denote $D_{j}=\left\{p^{a_{j}+1} m \mid m \in A_{q}^{b_{n}}\right\}$ for every $j \in \mathbb{N}$. We can see that the set $D_{j}$ contains natural numbers in form $p^{s} q^{b_{i}} m$, where $s \geq a_{j}+1$, $m, i \in \mathbb{N}$, and $q$ does not divide $m$.

We denote the difference of set $C_{j}$, and $D_{j}$ by $Q_{j}$. It holds that

$$
\begin{equation*}
Q_{j}=C_{j} \backslash D_{j}=\left\{p^{a_{j}} m \mid m \in A_{q}^{b_{n}} ; p, q \text { does not divide } m\right\} . \tag{8}
\end{equation*}
$$

We can see that the set $Q_{j}$ contains natural numbers in form $p^{a_{j}} q^{b_{i}} m$, where $j$ is fixed, $m, i \in \mathbb{N}$, and neither $p$ nor $q$ does not divide $m$.

From equations (7), and (8) follows

$$
\begin{equation*}
A_{p}^{a_{n}} \cap A_{q}^{b_{n}}=\bigcup_{j \in \mathbb{N}} Q_{j} . \tag{9}
\end{equation*}
$$

Hence, for every $k \in \mathbb{N}$ holds

$$
\begin{equation*}
\bigcup_{j=1}^{k} Q_{j} \subseteq A_{p}^{a_{n}} \cap A_{q}^{b_{n}} \subseteq C_{k+1} \cup\left(\bigcup_{j=1}^{k} Q_{j}\right) \tag{10}
\end{equation*}
$$

Now, we determine asymptotic densities of sets $C_{j}, D_{j}$, and $Q_{j}$. Element $p^{a_{j}} m \in C_{j}\left(m \in A_{q}^{b_{n}}!\right)$ fulfills condition $p^{a_{j}} m \leq n$ if and only if $m \leq \frac{n}{p^{a_{j}}}$.

Hence, the number of elements of the set $C_{j}$ which are less or equal to $n$ is equal to the number of elements $m \in A_{q}^{b_{n}}$ which are less or equal to $\frac{n}{p^{a_{j}}}$. It means that

$$
C_{j}(n)=A_{q}^{b_{n}}\left(\left[\frac{n}{p^{a_{j}}}\right]\right)
$$

So we obtain the asymptotic density of the set $C_{j}$

$$
\begin{equation*}
d\left(C_{j}\right)=\lim _{n \rightarrow \infty} \frac{C_{j}(n)}{n}=\lim _{n \rightarrow \infty} \frac{A_{q}^{b_{n}}\left(\left[\frac{n}{p^{a_{j}}}\right]\right)}{n}=\frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}}} \tag{11}
\end{equation*}
$$

Similarly,

$$
\begin{equation*}
d\left(D_{j}\right)=\frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}+1}} . \tag{12}
\end{equation*}
$$

Since $D_{j} \subset C_{j}$, and $Q_{j}=C_{j} \backslash D_{j}$, from equations (11), and (12) we obtain

$$
\begin{equation*}
d\left(Q_{j}\right)=d\left(C_{j}\right)-d\left(D_{j}\right)=\frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}}}-\frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}+1}}=d\left(A_{q}^{b_{n}}\right)\left(1-\frac{1}{p}\right) \frac{1}{p^{a_{j}}} . \tag{13}
\end{equation*}
$$

Sets $Q_{j}$ are pairwise disjoint (one can easily prove that $Q_{i} \cap Q_{j} \neq \emptyset$ implies $i=j$ ). It means that for every $k \in \mathbb{N}$ holds

$$
\begin{equation*}
d\left(\bigcup_{j=1}^{k} Q_{j}\right)=\sum_{j=1}^{k} d\left(Q_{j}\right) \tag{14}
\end{equation*}
$$

From (10) we obtain estimations of lower and upper asymptotic density of set $A_{p}^{a_{n}} \cap A_{q}^{b_{n}}$

$$
d\left(\bigcup_{j=1}^{k} Q_{j}\right) \leq \underline{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \leq d\left(C_{k+1}\right)+d\left(\bigcup_{j=1}^{k} Q_{j}\right)
$$

From (14) follows

$$
\sum_{j=1}^{k} d\left(Q_{j}\right) \leq \underline{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \leq d\left(C_{k+1}\right)+\sum_{j=1}^{k} d\left(Q_{j}\right)
$$

and from (11), and (13) we obtain

$$
\begin{aligned}
&\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}}} \leq \underline{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \leq \bar{d}\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right) \\
& \leq \frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{k+1}}}+\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}}}
\end{aligned}
$$

These unequalities hold for every $k \in \mathbb{N}$. With $k \rightarrow \infty$ we obtain

$$
d\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right)=\lim _{k \rightarrow \infty}\left(1-\frac{1}{p}\right) \sum_{j=1}^{k} \frac{d\left(A_{q}^{b_{n}}\right)}{p^{a_{j}}}=d\left(A_{q}^{b_{n}}\right)\left(1-\frac{1}{p}\right) \sum_{j=1}^{\infty} \frac{1}{p^{a_{j}}} .
$$

And according to Theorem 1 holds

$$
d\left(A_{p}^{a_{n}} \cap A_{q}^{b_{n}}\right)=d\left(A_{p}^{a_{n}}\right) d\left(A_{q}^{b_{n}}\right) .
$$

Theorem 3. Let $P=\left\{p_{1}, p_{2}, \ldots, p_{r}\right\}$ be a set of pairwise co-prime natural numbers $^{2}$, where $1 \notin P$, and $\left\{a_{1}(n)\right\}_{n=1}^{\infty},\left\{a_{2}(n)\right\}_{n=1}^{\infty}, \ldots,\left\{a_{r}(n)\right\}_{n=1}^{\infty}$ are increasing sequences of non-negative integers. Then

$$
d\left(\bigcap_{i=1}^{r} A_{p_{i}}^{a_{i}(n)}\right)=\prod_{i=1}^{r} d\left(A_{p_{i}}^{a_{i}(n)}\right)=\prod_{i=1}^{r}\left(\left(1-\frac{1}{p_{i}}\right) \sum_{j=1}^{\infty} \frac{1}{p_{i}^{a_{i}(j)}}\right)
$$

Proof. We can perform the proof of Theorem 3 by induction according to $r$. The case of $r=1$ (and $r=2$ ) was proved in Theorem 1 (and in Theorem 2). Therefore, we can consider (induction hypothesis) that

$$
\begin{equation*}
d\left(\bigcap_{i=1}^{r-1} A_{p_{i}}^{a_{i}(n)}\right)=\prod_{i=1}^{r-1} d\left(A_{p_{i}}^{a_{i}(n)}\right)=\prod_{i=1}^{r-1}\left(\left(1-\frac{1}{p_{i}}\right) \sum_{j=1}^{\infty} \frac{1}{p_{i}^{a_{i}(j)}}\right) \tag{15}
\end{equation*}
$$

Since $p_{1}, p_{2}, \ldots, p_{r}$ are pairwise co-prime numbers

$$
\begin{align*}
& \bigcap_{i=1}^{r} A_{p_{i}}^{a_{i}(n)}=\left\{p_{r}^{a_{r}\left(j_{r}\right)} p_{r-1}^{a_{r-1}\left(j_{r-1}\right)} \ldots p_{1}^{a_{1}\left(j_{1}\right)} \cdot m \mid m \in \mathbb{N}\right. \\
&\left.j_{i} \in \mathbb{N}, p_{i} \text { does not divide } m, i=1,2, \ldots, r\right\} \tag{16}
\end{align*}
$$

and

$$
\begin{align*}
& \bigcap_{i=1}^{r-1} A_{p_{i}}^{a_{i}(n)}=\left\{p_{r-1}^{a_{r-1}\left(j_{r-1}\right)} \ldots p_{1}^{a_{1}\left(j_{1}\right)} \cdot m \mid m \in \mathbb{N}\right. \\
&\left.j_{i} \in \mathbb{N}, p_{i} \text { does not divide } m, i=1,2, \ldots, r-1\right\} \tag{17}
\end{align*}
$$

For simplicity, let us denote

$$
A=\bigcap_{i=1}^{r} A_{p_{i}}^{a_{i}(n)}, \quad \text { and } \quad A^{*}=\bigcap_{i=1}^{r-1} A_{p_{i}}^{a_{i}(n)}
$$

Further let us denote

$$
\begin{aligned}
C_{j} & =\left\{p_{r}^{a_{r}(j)} \cdot m \mid m \in A^{*}\right\}, \\
D_{j} & =\left\{p_{r}^{a_{r}(j)+1} . m \mid m \in A^{*}\right\}, \\
Q_{j} & =C_{j} \backslash D_{j} .
\end{aligned}
$$

[^1]The same way as in previous proofs we can prove following equations

$$
\begin{aligned}
d\left(C_{j}\right) & =\frac{d\left(A^{*}\right)}{p_{r}^{a_{r}(j)}} \\
d\left(D_{j}\right) & =\frac{d\left(A^{*}\right)}{p_{k}^{a_{r}(j)+1}} \\
d\left(Q_{j}\right) & =d\left(C_{j}\right)-d\left(D_{j}\right)=\frac{d\left(A^{*}\right)}{p_{r}^{a_{r}(j)}}\left(1-\frac{1}{p_{r}}\right), \\
d\left(\bigcup_{j=1}^{k} Q_{j}\right) & =\sum_{j=1}^{k} d\left(Q_{j}\right) .
\end{aligned}
$$

Furthermore, we can prove this relations, following from (16), (17), and holding for every $k \in \mathbb{N}$

$$
\bigcup_{j=1}^{k} Q_{j} \subseteq A=\bigcap_{i=1}^{r} A_{p_{i}}^{a_{i}(n)} \subseteq C_{k+1} \cup \bigcup_{j=1}^{k} Q_{j}
$$

and estimations

$$
\begin{gathered}
\sum_{j=1}^{k} d\left(Q_{j}\right) \leq \underline{d}(A) \leq \bar{d}(A) \leq d\left(C_{k+1}\right)+\sum_{j=1}^{k} d\left(Q_{j}\right), \\
\left(1-\frac{1}{p_{r}}\right) \sum_{j=1}^{k} \frac{d\left(A^{*}\right)}{p_{r}^{a_{r}(j)}} \leq \underline{d}(A) \leq \bar{d}(A) \leq \frac{d\left(A^{*}\right)}{p_{r}^{a_{r}(k+1)}}+\left(1-\frac{1}{p_{r}}\right) \sum_{j=1}^{k} \frac{d\left(A^{*}\right)}{p_{r}^{a_{r}(j)}} .
\end{gathered}
$$

With $k \rightarrow \infty$ we obtain

$$
\begin{aligned}
d(A) & =d\left(A^{*}\right)\left(1-\frac{1}{p_{r}}\right) \sum_{j=1}^{\infty} \frac{1}{p_{r}^{a_{r}(j)}}= \\
& =d\left(A^{*}\right) d\left(A_{p_{r}}^{a_{r}(n)}\right)= \\
& =d\left(\bigcap_{i=1}^{r-1} A_{p_{i}}^{a_{i}(n)}\right) d\left(A_{p_{r}}^{a_{r}(n)}\right) .
\end{aligned}
$$

Finally, according to (15), and Theorem 1

$$
\begin{aligned}
d(A) & =d\left(A_{p_{r}}^{a_{r}(n)}\right) \prod_{i=1}^{r-1} d\left(A_{p_{i}}^{a_{i}(n)}\right)= \\
& =\prod_{i=1}^{r} d\left(A_{p_{i}}^{a_{i}(n)}\right)= \\
& =\prod_{i=1}^{r}\left(\left(1-\frac{1}{p_{i}}\right) \sum_{j=1}^{\infty} \frac{1}{p_{i}^{a_{i}(j)}}\right) .
\end{aligned}
$$

As a special case we can consider sets $A_{p}^{a_{n}}$, where $a_{n}=a(n-1)+b$ is an increasing arithmetical sequence of non-negative integers, $p$ is a prime number, and $a \in \mathbb{N}, b \in \mathbb{N} \cup\{0\}$. For simplicity, we denote them by $A_{p}^{a, b}$, i.e.

$$
A_{p}^{a, b}=\left\{p^{a(n-1)+b} m \mid m, n \in \mathbb{N}, p \text { does not divide } m\right\}
$$

Asymptotic density of $A_{p}^{a, b}$ is equal (according to Theorem 1) to

$$
d\left(A_{p}^{a, b}\right)=\left(1-\frac{1}{p}\right) \sum_{j=1}^{\infty} \frac{1}{p^{a(j-1)+b}}=\frac{\frac{1}{p^{b}}\left(1-\frac{1}{p}\right)}{1-\frac{1}{p^{a}}} .
$$

Theorem 4. Let $p_{1}<p_{2}<\cdots<p_{i}<\ldots$ be the sequence of all prime numbers,

$$
A=\left\{d\left(A_{p_{i}}^{a, b}\right) \mid i, a \in \mathbb{N}, b \in \mathbb{N} \cup\{0\}\right\}
$$

and

$$
B=\left\{\left.\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right) \right\rvert\, i \in \mathbb{N}, b \in \mathbb{N} \cup\{0\}\right\}
$$

Then for the closure of set $A$ holds

$$
\operatorname{cl} A=A \cup B \cup\{0,1\}
$$

Proof. The strategy of this proof is following: It is obvious that $\mathrm{cl} A \subseteq\langle 0,1\rangle$, and $A \subseteq \operatorname{cl} A$. We choose arbitrary $x_{0} \in(0,1), x_{0} \notin A, x_{0} \notin B$ and we prove that $x_{0} \notin \operatorname{cl} A$. Then we prove that $B \subset \operatorname{cl} A$, and $0 \in \operatorname{cl} A, 1 \in \operatorname{cl} A$.

First of all, we are going to prove that there is just a finite number of elements of the set $B$ in an arbitrary interval $(\alpha, \beta) \subseteq(0,1), 0<\alpha<\beta<1$.

Let us denote

$$
\begin{equation*}
k_{b, i}=\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right) . \tag{18}
\end{equation*}
$$

Hence, $B=\left\{k_{b, i} \mid i \in \mathbb{N}, b \in \mathbb{N} \cup\{0\}\right\}$. It is obvious that for $b \geq 1$ holds $\lim _{i \rightarrow \infty} k_{b, i}=0$, and $\lim _{i \rightarrow \infty} k_{0, i}=1$. Therefore, for fixed $b$ just a finite number of elements $k_{b, i}$ belongs to the interval $(\alpha, \beta)$.

Moreover, for arbitrary $\alpha>0$ exists $b_{0} \in \mathbb{N}$ such that for every $b>b_{0}$ and for every $i \in \mathbb{N}$ holds

$$
k_{b, i}=\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right)<\frac{1}{p_{i}^{b}}<\frac{1}{2^{b}}<\alpha .
$$

Hence, only elements $k_{b, i} \in B$ where $b \leq b_{0}$ belong to interval $(\alpha, \beta)$. Thus, there is just finite number of elements of the set $B$ in the given interval $(\alpha, \beta)$.

Let us consider arbitrary $x_{0} \in(0,1), x_{0} \notin A, x_{0} \notin B$. There must exist some interval $(\alpha, \beta)$, where $0<\alpha<\beta<1, x_{0} \in(\alpha, \beta)$. We know that there exist just a finite number of elements of $B$ in the interval $(\alpha, \beta)$.

Hence, ( $x_{0} \notin B$ according to above mentioned assumptions)

$$
\begin{equation*}
\exists c_{1}, c_{2} \in B: x_{0} \in\left(c_{1}, c_{2}\right),\left(c_{1}, c_{2}\right) \cap B=\emptyset . \tag{19}
\end{equation*}
$$

For arbitrary $d \in A$ exists (see (18)) $k_{b, i} \in B$ :

$$
\begin{equation*}
d=d\left(A_{p_{i}}^{a, b}\right)=\frac{\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right)}{1-\frac{1}{p_{i}^{a}}}=\frac{k_{b, i}}{1-\frac{1}{p_{i}^{a}}} . \tag{20}
\end{equation*}
$$

We are looking for all elements $d \in A$, which belong to the interval $\left(c_{1}, c_{2}\right)$. Doing so, we solve inequalities

$$
c_{1}<d<c_{2}
$$

From (20), and from the fact that $p_{i} \geq 2$ we obtain

$$
\begin{aligned}
c_{1} & <\frac{k_{b, i}}{1-\frac{1}{p_{i}^{a}}}<c_{2}, \\
c_{1}\left(1-\frac{1}{p_{i}^{a}}\right) & <k_{b, i}<c_{2}\left(1-\frac{1}{p_{i}^{a}}\right), \\
c_{1}\left(1-\frac{1}{2^{a}}\right) & <k_{b, i}<c_{2}, \\
\frac{c_{1}}{2} & <k_{b, i}<c_{2},
\end{aligned}
$$

and from (19)

$$
\begin{equation*}
d=d\left(A_{p_{i}}^{a, b}\right) \in\left(c_{1}, c_{2}\right) \Rightarrow k_{b, i} \in\left(\frac{c_{1}}{2}, c_{1}\right\rangle \tag{21}
\end{equation*}
$$

As proved above, there is just a finite number of elements $k_{b, i} \in B$ which satisfy the condition $k_{b, i} \in\left(\frac{c_{1}}{2}, c_{1}\right\rangle$. Let us denote them (recall that $\left.c_{1} \in B\right)$

$$
k_{b_{1}, i_{1}}<k_{b_{2}, i_{2}}<\cdots<k_{b_{r}, i_{r}}=c_{1}
$$

Hence, (see (20) and (21)),

$$
\begin{equation*}
d=d\left(A_{p_{i}}^{a, b}\right) \in\left(c_{1}, c_{2}\right) \text { only if } b \in\left\{b_{1}, b_{2}, \ldots, b_{r}\right\}, \text { and } i \in\left\{i_{1}, i_{2}, \ldots, i_{r}\right\} \tag{22}
\end{equation*}
$$

Let us determine for which $a$ the elements $d=d\left(A_{p_{i_{j}}}^{a, b_{j}}\right), j=1,2, \ldots, r$ belong to the interval $\left(c_{1}, c_{2}\right)$ ?

We can see that

$$
\lim _{a \rightarrow \infty} d\left(A_{p_{i_{j}}}^{a, b_{j}}\right)=\lim _{a \rightarrow \infty} \frac{k_{b_{j}, i_{j}}}{1-\frac{1}{p_{i_{j}}^{a}}}=k_{b_{j}, i_{j}} \text { for } j=1,2, \ldots, r
$$

Thus, for every $j=1,2, \ldots, r$ holds:
$\forall \varepsilon>0 \exists a_{0}(\varepsilon) \in \mathbb{N}$ :

$$
\begin{equation*}
\forall a>a_{0}(\varepsilon): d\left(A_{p_{i_{j}}}^{a, b_{j}}\right)<k_{b_{j}, i_{j}}+\varepsilon \leq k_{b_{r}, i_{r}}+\varepsilon=c_{1}+\varepsilon \tag{23}
\end{equation*}
$$

We can choose $\varepsilon$ small enough to $x_{0} \in\left(c_{1}+\varepsilon, c_{2}\right)$ (see (19)). From (22) and (23) follows that the element $d=d\left(A_{p_{i}}^{a, b}\right) \in A$ belongs to the interval $\left(c_{1}+\varepsilon, c_{2}\right)$
only if $b \in\left\{b_{1}, b_{2}, \ldots, b_{r}\right\}, i \in\left\{i_{1}, i_{2}, \ldots, i_{r}\right\}$, and $a \in\left\{1,2, \ldots, a_{0}(\varepsilon)\right\}$. Thus, for every $x_{0} \in(0,1), x_{0} \notin A, x_{0} \notin B$ holds $x_{0} \notin \operatorname{cl} A$.

Moreover,

$$
\begin{gathered}
\lim _{a \rightarrow \infty} d\left(A_{p_{i}}^{a, b}\right)=\lim _{a \rightarrow \infty} \frac{\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right)}{1-\frac{1}{p_{i}^{a}}}=\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right) \in B, \\
\lim _{i \rightarrow \infty} d\left(A_{p_{i}}^{a, 0}\right)=\lim _{i \rightarrow \infty} \frac{\frac{1}{p_{i}^{0}}\left(1-\frac{1}{p_{i}}\right)}{1-\frac{1}{p_{i}^{a}}}=1,
\end{gathered}
$$

and

$$
\lim _{b \rightarrow \infty} d\left(A_{p_{i}}^{a, b}\right)=\lim _{b \rightarrow \infty} \frac{\frac{1}{p_{i}^{b}}\left(1-\frac{1}{p_{i}}\right)}{1-\frac{1}{p_{i}^{a}}}=0
$$

Hence, $B \subset \operatorname{cl} A, 1 \in \operatorname{cl} A$, and $0 \in \operatorname{cl} A$. Thus, $\mathrm{cl} A=A \cup B \cup\{0,1\}$.

## References

[1] Jahoda P., Pěluchová M.: Systems of sets with multiplicative asymptotic density, Math. Slovaca 58(2008), No. 4, 393-404.
[2] Jahoda P.: Notes on the expression of natural numbers as sum of powers, Tatra Mt. Math. Publ. 34 (2005), 1-11.

Author(s) Address(es):
Pavel Jahoda, Department of Applied Mathematics, Technical University of Ostrava, 17.listopadu 15/2172, 70833 Ostrava-Poruba, Czech Republic

E-mail Address: pavel.jahoda@asb.cz
Monika Pěluchová, Department of Mathematics, University of Ostrava, Dvořákova 7, 70103 Ostrava, Czech Republic
E-mail Address: monika.peluchova@osu.cz


[^0]:    ${ }^{1}$ We denote the integral part of real number $x$ by $[x]$, and the number of elements of a set $A$ by $A(n)$.

[^1]:    ${ }^{2}$ For each $i, j \in \mathbb{N}, i \neq j$ holds $\operatorname{gcd}\left(p_{i}, p_{j}\right)=1$.

